LIST OF DRAWINGS FOR CLAMPS & CONNECTORS.

;E'. DESCRIPTION DRAWING .NO-
1 |Inter Connector to suit 120mm OD Al tube to 60mm OD Al tube 001
2 |Tee Connector to suit 120mm OD Al tube to 120mm OD Al. tube 002
3 ’I‘e; Connector to suit 60mm OD Al. tube to 114mm 0D Al tube 003
4 |Terminal Connectar to suit 120mm OD Al tube on Al Terminal Pad 004
_5— Through type Terminal Connector to suit 120mm OD Al tube on Al Terminal Pad 005
6 |Terminal Connector to suit 120mm OD Al tube on AL Terrﬁiﬁéﬁ éad 006
7 | Terminal Connector to suit 120mm OD AL tube on Al Terminal Pad 007
8 !Terminal Connector to suit 60mm OD Al tube on 30 Dia Copper Stud 008
9 |Expansion type Connector on BPI to suit 110mm 0D Al tube 009

Pagelofl



B0mm 0D AL. TUBE

120mm 0D AL. TUBE

ir\!c

|

|
!
!
|

ELEVATION

280

[ ALL DIMENSIONS ARE IN MILLIMETRES UMLESS CTHERWISE SPECIFIED

MATERIAL _LIST:

REF
NG,

DESCRIPTION MATERIAL QTyY

Al. ALLOY 4600 (AB)

CONNECTOR BODY TO I5. : 817—-1994

N

BOLT, NUT (HTS, GRADE 8.8)
& PW & SW — M.S. ELECTRO( 10
PLATED

M12XB0 BOLT WITH NUT,
PLAIN & SPRING WASHER

NOTRES:—

1

N

~Noa s

REF. STANDARD : IS : 5561—1870

. MAX, SYSTEM VOLTAGE : 36 KV

CONTINUOUS RATING : 1250 AMPS
(MAX. TEMP RISE : 365°C OVER 50'C AMBIENT)

. SHORT TIME RATING : B3 KA FOR 1 SEC.
. ALL SHARP CORNERS SHALL BE SMOOTHLY ROUNDED OFF,

MIN, THICKNESS OF CURRENT CARRYING PARTS : 10mm
BOLTS,NUTS&PLAIN WASHERS SHALL BE M.5.HOT DIF GALVD.
AS PER 15:2628 AND TESTED AS PER 15:2633.

SPRING WASHER SHALL BE ELECTRO GALVANISED TO SUIT
SERVICE COCNDITION—3 OF 15:1573.

. BOLT TIGHTENING TORQUE : 355 Kg.cm
. MANUFACTURING TOLERANCES : (UNLESS SPECIFIED OTHERWISE)

UPTO 50mm : 5% ; FROM 51 TO 100mm : £4% ;
FROM 101 TO 300mm : £3%

AN

AIva

INTER CONNECTOR TO SUIT
120mm 0D AL. TUBE TO B0mm CD AL. TUBEL

S8

DRAWING NO:—

ool




F

365

ELEVATION

120mm 0D AL. TUBE

185

SECTION—"XX'

120mm 0D AL. TUBE

| ALL DIMENSIONS ARE IN MILLIMETRES UNLESS OTHERWISE SPECIFIED

MATERIAL LIST:

REF
NO.

DESCRIPTION MATERIAL aTY

Al. ALLOY 4800 (AB)

1. |CONNECTOR BODY T0 1S - 617—1994

2. |CLAMPING PIECE —DO— 1

BOLT, NUT (HTS, GRADE B.8)

M12X75 BOLT WITH NUT
* & PW & SW - M.S. ELECTRO| 12
PLAN & SPRING WASHER |5y atep

NOTES:—

—_

“om

Noo o

REF. STANDARD : IS : 5561-1970

MAX. SYSTEM VOLTAGE : 38 KV

CONTINUOUS RATING : 1250 AMPS

{MAX. TEMP RISE : 35'C OVER 50'C AMBIENT)

SHORT TIME RATING : 63 KA FOR 1 SEC.

ALl SHARF CORNERS SHALL BE SMOOTHLY RQUNDED OFF.
MIN. THICKNESS OF CURRENT CARRYING PARTS : 10mm
BOLTS,NUTS&PLAIN WASHERS SHALL BE M.S.HOT DIP GALVD.
AS PER 1S:2629 AND TESTED AS PER IS:2B33.

SPRING WASHER SHALL BE ELECTRO GALVANISED TO SUIT
SERVICE CONDITION—3 OF 15:1573.

. BOLT TIGHTENING TORQUE : 555 Kg.cm

MANUFACTURING TOLERANCES : (UNLESS SPECIFIED OTHERWISE)
UPTO 30mm : 5% ; FROM 51 TO 100mm : +4% ;
FROM 10t TO 300mm : +£3%

[
==y

ro~]

A

ivd

120mm OD AL. TUBE TO 120mm OD AL. TUBE

St

TEE CONNECTOR TO SUIT

DRAWING NO—
Qa2

=N
S
.
.,



B8O
50 80mm 0D AL. TUBE
|
NN
f_\ pN
o - r - Y
! 7
B
. I.“_fCr
H | T e
} ! i e
1 I —
T &
m ! | P
I

250

SECTION —"XX’

END VIEW

[_ALL _DIMENSIONS ARE IN MILLIMETRES UNLESS OTHERWISE SPECIFIED

REw DESCRIPTION MATERIAT, Ty

Al. ALLOY 4800 (AB)
TO IS, : B17-1994

2. |CLAMPING PIECE —DO-- 1
M12X75 BOLT WITH nu7, [BOLT. NUT (HTS, GRADE 8.8)

& PW & SW — M.S. ELECTRO| 12
_u_.Lﬁz 4 SPRING WASHER PLATED

1. |CONNECTOR BODY

NOTES:—

. REF. STANDARD : IS : 55B1—1870

MAX. SYSTEM VOLTAGE : 38 KV

CONTINUOUS RATING : 1000 AMPS

(MAX. TEMP RISE : 35'C OVER 50°C AMBIENT)

SHORT FIME RATING : 63 KA FOR 1 SEC.

ALL SHARP CORNERS SHALL BE SMOOTHLY ROUNDED OFF,

MIN., THICKNESS OF CURRENT CARRYING PARTS : 10mm

BOLTS,NUTS&PLAIN WASHERS SHALL BE M.S.HCOT DIP GALVD.

AS PER [15:2628 AND TESTED AS PER 15:2633.

B. SPRING WASHER SHALL BE ELECTRC GALVANISED TO SUIT
SERVICE CONDITION-3 OF I5:1573.

9. BOLT TIGHTENING TORQUE : 555 Kg.cm

10. MANUFACTURING TOLERANCES : (UNLESS SPECIFIED OTHERWISE)

UPTO 50mm : £5% ; FROM 51 TO 100mm : +4% ;

FROM 101 TO 300mm : +3%

SRS

oo

~N @

AT

diva

TEE CONNECTOR TO SUIT
60mm OD AL. TUBE TO 114mm OD AL TUBE

NS, Pl g T
e T Y® /

= )

~o

N T

§N

ORAWING NC:—




| ALL DIMENSIONS ARE IN_ MILLIMETRES UNLESS OTHERWISE SPECIFIED

MATERIAL LIST:

130 185 REF
o DESCRIPTION MATERIAL QTY
e ——————— AL ALLOY 4600 (AB)
[ n . _ 1. {CONNECTOR BODY S e eiTe1g04 1
_ 1 | 2. lcLameing piECE —DO— 1
|M*m_m_ﬂ|s 5 [M72x75 BOLT Wit NuT, Mo_ma Mﬁmc@_.:m.gomm)wmrmm.awo 5
o _ _ PLAIN & SPRING WASHER |5 "3
C- -t M16X60 BOLT WITH NUT, o
o _ - * IPLAIN & SPRING WASHER bo 4
LC]L 1T -~
NOTES: —
1. REF. STANDARD : IS : 5581—1970
ELEVATION END VIEW 2. MAX. SYSTEM VOLTAGE : 36 KV
3. CONTINUOUS RATING : 1250 AMPS
(MAX. TEMP RISE : 35'C OVER 50°C AMBIENT)
245 4. SHORT TIME RATING : 63 KA FOR 1 SEC.
120mm O AL. TUBE 5. ALL SHARP CORNERS SHALL BE SMOOTHLY ROUNDED OFF.
115 50 50 6. MIN. THICKNESS OF CURRENT CARRYING PARTS : 10mm
| 7. BOLTS,NUTS&PLAIN WASHERS SHALL BE M.S.HOT DIP GALVD.

8. SPRING WASHER SHALL BE ELECTRO GALVANISED TO SUIT
— , SERVICE CONDITION-3 OF 1S:1573.
[ @ $ 9. BOLT TIGHTENING TORQUE : 555 Kg.om
....... . " 10. MANUFACTURING TOLERANCES : (UNLESS SPECIFIED OTHERWISE)
e UPTO 50mm : 5% ; FROM 51 TO 100mm : 4% ;
- @ _ FROM 101 TO 300mm : +3%

i I |
AN AN R \ AS PER 15:2629 AND TESTED AS PER 1S:2833.
YT

28 50 25

4—-186 HOLES NZERN ZERN .

Ay

TERMINAL CONNECTOR TO 5UIT
120mm OD AL. TUBE ON AL. TERMINAL PAD

V0

DRAWING NO:—




| AL DIMENSIONS ARE IN MILLIMETRES UNLESS OTHERWISE SPECIFIED

MATERIAL 1IST:

20 4 70 6
50 120mm 0D Al. TUBE 7 MM_ RER DESCRIPTION MATERIAL Qry
N \ [ . A. ALLOY 4600 (AB)
AN .
Wz \ = 1. |CONNECTOR BODY S 1
. E— L 2. |CLAMPING PIECE —Bo-— 1
3, [wizx7s soLT wirw ur, | BOLE Mﬁm&zam.gom\pw_mrmwwmo .
S IR S VAN & SPRING A _
2 PLAIN & SPRING WASHER | & "
» [M16X60 BOLT WITH NUT, oo .
LW T 0 PLAIN & SPRING WASHER
b ]
& &
RN
- NOTES: —
4—18¢ HOLES °/ 1. REF. STANDARD : 1S : 55611870
2. MAX. SYSTEM VOLTAGE : 36 KV
3. CONTINUOUS RATING : 1250 AMPS

25 50

25| (MAX. TEMP RISE : 35°C OVER 50°'C AMBIENT)

4. SHORT TIME RATING : 63 KA FOR 1 SEC.

5. ALL SHARP CORNERS SHALL BE SMQOTHLY ROUNDED OFF.

€. MIN. THICKNESS OF CURRENT CARRYING PARTS : 10mm

7. BOLTS.NUTS&PIAIN WASHERS SHALL BE M.S.HOT DIP GALVD.

AS PER IS:2629 AND TESTED AS PER 1S:2633.

. SPRING WASHER SHALL BE ELECTRO GALVANISED TO SUIT

SERVICE CONDITION-3 OF 1S:1573.

BOLT TIGHTENING TORQUE : 555 Kg.cm

10. MANUFACTURING TOLERANCES : (UNLESS SPECIFIED OTHERWISE)
UPTO 50mm : £5% ; FROM 51 TO 100mm : +4% ;
FROM 101 TO 300mm : +3%

ELEVATION _ END_ VIEW

ca

©

\&m,‘»ﬂuﬂ#f
= ?622 /

N 4
7 e -
I 2 == o T
—— 1 HPL /|4
g W=l s
THROUGH TYPE TERMINAL CONNECTOR TO SUIT N R
= ; ] i) B e g
M 120mm OD AL. TUBE ON AL. TERMINAL PAD /Hrf % \\\.\

DRAWING NO:—
00%




120mm_0D AL.TUBE

..

230

3

9—-14¢ HOLES

ELEVATION END_VIEW

[ ML DIMENSIONS ARE IN MHLIMETRES UNLESS OTHERWISE SPECIFIED

MATERIAL, LIST:

REF
NO.

MATERIAL Ty

DESCRIPTION

1, |CONMECTOR BODY

ALLOY 4800 (AB)
. §17—1994

Al.
TO LS.

2. |CLAMPING PIECE

~-DO— 1

3, |M12X60 BOLT WiTH NUT,
PLAIN & SPRING WASHER

BOLT, NUT (HTS, GRADE 8.8)
& PW & SW — M.S. ELECTRO| B
PLATED

4. [M12X75 BOLT WITH NUT,
PLAIN & SPRING WASHER

—-DO— 9

NOTES: —

. REF. STANDARD -

IS : 5561-1970

MAX. SYSTEM VOLTAGE : 36 KV

CONTINUQUS RATING : 1250 AMPS

{MAX. TEMP RISE : 35°C OVER 50°C AMBIENT)

SHORT TIME RATING : 63 KA FOR 1 SEC.

ALL SHARP CORNERS SHALL BE SMOOTHLY ROUNDED OFF.
MIN. THICKNESS OF CURRENT CARRYING PARTS : 10mm
BOLTS,NUTS&PLAIN WASHERS SHALL BE M.S.HOT DIP GALVD.
AS PER 1S:2629 AND TESTED AS PER [S:2633.

SPRING WASHER SHALL BE ELECTRO GALVANISED TO SUlt
SERVICE CONDITION-3 OF 1S:1573.

. BOLT TIGHTENING TORQUE : 555 Kg.cm

{UNLESS SPECIFIED OTHERWISE)
4% ;

MANUFACTURING TOLERANCES :
UPTO 50mm : 5% ; FROM.5% TC 100mm

FROM 101 TO 300mm : +3%

AT

Aiva

TERMINAL CONNECTOR TO SUIT
120mm OD AL. TUBE ON AL. TERMINAL PAD

DRAWING NO:-—




[ ALL DIMENSIONS ARE I MILIMETRES UNLESS OTHERWISE SPECIFIED

MATERIAL LIST:

130 - e DESCRIPTION MATERIAL QTY
. : AL _ALLOY 4600 (AB)
1. lconnECTOR BODY A 994 1
2. |cLaMPiNG PIECE —DO— 1

BOLT, NUT (HTS, GRADE 8.8)
& PW & SW — M.S. ELECTRo| B
PLATED -

M12X75 BOLT WITH NUT,
PLAIN & SPRING WASHER

«

Mi2X680 BOLT WITH NUT,

PLAIN & SPRING WASHER —Do- ©

80

NOTES: —

REF. STANDARD : IS : 55611870

MAX. SYSTEM VOLTAGE : 36 KV

CONTINUQUS RATING : 1250 AMPS

{MAX. TEMP RISE : 35C OVER 50°C AMBIENT)
SHORT TIME RATING : 63 KA FOR 1 SEC.

ELEVATION

END VIEW

LN

285

ALl SHARP CORNERS SHALL BE SMOOTHLY ROUNDED OFF.
MIN. THICKMESS OF CURRENT CARRYING PARTS : 10mm
BOLTS.NUTS&PLAIN WASHERS SHALL BE M.S.HOT DIP GALVD.
AS PER I5:2629 AND TESTED AS PER IS:2833.

8. SPRING WASHER SHALL BE ELECTRO GALVANISEDR TO SUIT
SERVICE CONDITION—3 OF IS:1573.

120mm. O0 AL. TUBE

50 50 \

Ne e s

120

45

45

9. BOLT TIGHTENING TORQUE :
10. MANUFACTURING TOLERANCES :
UPTO 50mm : £5% ; FROM 51 TO 100mm :

553 Kg.cm
{UNLESS SPECIFIED OTHERWISE})
4%

FROM 101 TO 300mm : 3%

=L

L

TERMINAL CONNECTOR TO SUR

120mm OD

AL. TUBE ON AL. TERMINAL PAD

DRAWING NO:—




50

X

30

1

o

|
T
160

309 _COPPER STUD

1/(

ELEVATION

72
Loy

SECTION-"YY’

60mm 0D AL. TUBE

[_ALL DIMENSIGNS

ARE [N MILLIMETRES UNLESS OTHERWISE SPECIFIED

MATERIAL LIST:

REE DESCRIPTION MATERIAL QTY
Al ALLOY 4600 (A6
1. {CONNECTOR BODY il miimm% 1
2. | CLAMPING PIECE —DO- 1
3. [M12X60 BOLT WITH NUT, |BOLT, NUT (HTS, GRADE 8.3)
PLAIN & SPRING WASHER |& PW & SW — M.S. ELECTRO| 4
PLATED
4. | M12x55 BOLT WITH NUT,
PLAIN & SPRING WASHER ~Do= *
5. | 300X110LgX2 Th.B.M.SLEEVE ALUMINIUM—COPPER 1
NOTES: —
1. REF. STANDARD : IS : 5561--1970
2. MAX. SYSTEM VOLTAGE : 36 KV
3. CONTINUOUS RATING : 1000 AMPS
(MAX. TEMP RISE : 35'C OVER 50°C AMBIENT)
4. SHORT TIME RATING : 63 KA FOR 1 SEC.
5. ALL SHARP CORNERS SHALL BE SMOGTHLY ROUNDED OFF.
6. MIN. THICKNESS OF CURRENT CARRYING PARTS : 10mm
7. BOLTS,NUTS&PLAIN WASHERS SHALL BE M.S.HOT DIP GALVD.
AS PER IS:2629 AND TESTED AS PER [S:2633.
8. SPRING WASHER SHALL BE ELEGTRO GALVANISED TO SUIT
SERVICE CONDITION—3 OF 1S:1573.
©. BOLT TIGHTENING TORQUE : 555 Kg.cm
10. MANUFACTURING TOLERANCES :

UPTO 50mm : 5% ; FROM 51 TQ 100mm - +47 ;

(UNLESS SPECIFIED OTHERWISE)

: FROM 101 TO 300mm : +3=%
SECTION-"XX’
)
o
TERMINAL GONNECTOR TO SUIT % S
3 A
5| 80mm 0D AL TUBE ON 30¢ COPPER STUD ‘ *
m DORAWING M-
nog

NTANAL




FACTORY WELD

b Ao

: MV

7 — i
)
60

Al ammr

|

{110mm OD

230

FACTORY WELD

> 4
V7]
\\Awu/

=]

I

SECTION— "X

115

336

{ALL DIMENSIONS ARE IN MILLIMETRES UNLESS OTHERWISE SPECIFIED

MATERIAL LIST:

ey DESCRIPTION MATERIAL qTY
Al ALLOY 4600 (AB) 2
1. |CLAMP ON BUSBAR TO 15 : 617-1994 SETS
7. |SUPPORT ON BRI —00-— 1
3. |CLAMPING PIECE ~DO— 2
4. [FLEXIBLE CONDUCTORS
“TARANTULA" (37,/5.23mm) ALUMINIUM 2
= | M12X50 BOLT WITH NUT, |BOLT, NUT (HTS. GRADE &.8)
PLAIN & SPRING WASHER |& PW & SW — M.S. ELECTRO | 4
PLATED
& [WMT2X65 SOLT WitH NUT oo "
PLAIN & SPRING WASHER
M1BX35 BOLT,
7 ~DO~ 4

PLAIN & SPRING WASHER

&) me» Qv\ “a! 60
X
ELEVATION
8- 18X36_SLOTTED HOLES
sa8 /AT 127 PCD

|
S

-

i i

-
@

H —

&)\ .
_|_ 110mm 0D _Al. TUBE | g,

ANTICHATTERING SPRING M.S. ELECTRO GALVD.

’il

NOTES:—

W

R

10.

REF. STANDARD : IS : 5561-1970

MAX. SYSTEM VOLTAGE : 38 KV

CONTINUOUS RATING : 1250 AMPS

(MAX. TEMP RISE : 35°C OVER 50°C AMBIENT)

SHORT HME RATING : 63 KA FOR 1 SEC.

ALL SHARP CORNERS SHALL BE SMOOTHLY ROUNDED OFF.
MIN. THICKNESS OF CURRENT CARRYING PARTS : 10mm
BOLTS,NUTS&PLAIN WASHERS SHALL BE M.S.HOT DIP GALVD.
AS PER 5:2629 AND TESTED AS PER 1S:2633.

SPRING WASHER SHALL BE ELECTRO GALVANISED TO SUIT
SERVICE CONDITION—3 OF [S:1573.

BOLT TIGHTENING TORQUE : 555 Kg.cm FOR M12
: 762 Kg.crn FOR M16

{UNLESS SPECIFIED OTHERWISE)
4% -

MANUFACTURING TOLERANCES :
UPTO 50mm : 5% ; FROM 51 TQ 300mm

FROM 101 TO 300mm : £3%

A3

3lva

EXPANSION. TYPE CONNECTOR ON BPI
TO SUIT 110mm OD AL. TUBE

,..,., ].“./.(...\




